
Watermelon Equals Deliciousness!
Math Grades 3-4
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Solve the math problems. Then match the answers to the 
numbers below and fill in the letters to answer the question.
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Use the pictograph to answer the questions. = 20 lbs.
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Pinky, J. Slice, and Joe are shopping for their party. Solve the problems below.

Pinky has 2 $10 bills. She wants to buy 4 boxes of water-
melon popsicles. How much more money does she need?

J. Slice is picking up 2 bags of ice, 2 boxes of party favors, 
and 3 packs of cups. How much money will he spend?

Farmer Joe has $42.65. He is purchasing 3 packs of 
watermelon slices for the party and a juice box for 
himself.  How much money will he have left over?

Who picked the most pounds of watermelon?

What was the total amount of pounds picked?

How many pounds did Pinky pick?

How many more pounds did Morgan pick than Mateo?
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What’s a fun
way to enjoy tasty

watermelon?


